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33.
34.
35.
36.
37.
38.
39.

even
even
odd
neither
neither
neither
odd

40.
41.
42.
45.
46.

neither
even
odd
neither

even

Ch 1 Ditto 2:
9.y-4=2(x-2) ory+6=2(x+3)
10. 2x+y+11=0
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 pointsope ur Lesk-Famorrow

evaluating} f(x) with regular and piecewise

compositio
domain algebraically & from graph Piecewise Functions
range DQ!

. Pascals Triangle
Increasing
Decreasin Make a sketch!!!

Max

Min|may = Yvalue@X=—
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TEST Tomorrow
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2

Rel Max —L8I@ x=-133
RelMin -3@ x=0
Decreasing é-L33,0)
Increasing (-2 -133), ( 0,%)
, 2x M -3<x<-|
£ix)= 9 ¥ -1£X<3
x| tf X23

(—|.33,-l.sl  x
©,-3
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[Review PreCalculus:
o A graph of the tunction 1¢ shown find each:

a) f2)  °
b) fi-3) 1

s Find the domain for each:

3 2 1
a) f(X)_lx+5 b)f(x)—ﬁ c) f(x)—m
{x|x¢—%} {x|x>3} {x|x¢5,1}
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Inclvde Tables|

4 & Graph the piecewize function on graph paper and find each below:

.x3 tor X*:ii-. /Ty
Flx)=+ |x‘ tor -' <x <2
~x-1 forx=2

a)f-hH__ L ]

RO 9 g
Of@_B
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L‘ Given f(x)= x* —x—3 find each:

b.fa1) = (@-1)*~(2-1)-3
=@R*-20.+l-0+]-3
=a’ —3a-1

C. Difterence Quotient 2x+h -

¥eth) = (x+Hh)* (X’rh\ -3 N
4(])0) (x’+th+h —¥X-h-3- X'HX+3

h
' L bR = LXhth*-h
b

D= Dxth~|
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., Find the equation of a line contaiming the point (1.-1) and perpendicular to the
line -x+3n—-1 1 standard torm (U+') .ﬁ( )( [)

Y=- ¥*§ 20+2 =3x-3 3"

' Write the eqmtmn oi ﬂlt:?llle 1 slope intercept form with m=3 and passes through

point (-2.-1) -I-I“B(

Y+1=3xte N\ N/

.Write the equ’ttiou of line that passes through the points (4.1) and (-2.-1) in pomt slope

torm
i E1

0 Line throogh (5.-2) ¢(-3,9. Standard form.

q(wz}%- k-5)4 4y -Gl
TR IR & e

Oct 4-2:46 PM
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ﬂ&}how algebraically whether the function 1z even odd or neither: hint (do f{-x) )

i e
)= 4-x? {x) = X2 2x+1
same = even Neither

Oct 4-2:47 PM
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a(f+2) x = f(K)+g(x)
S a.la" 3)(54'&'
X’-\
X0

4
12.Given f(x)=— and z(x)FR=-3Xind each below:
x

7 _ £x)
b)(g)x-é-((—x)
_ %.x‘

"R

.
W33

4

O fog)s .
{(a()= (-7
£

4

" 4-lx+ay®
g

* oxE 1+

4

Oct 4-2:47 PM
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